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| C\; 915 D) 925
2. Complete the given Series:
Y 1214,17,22,29,40,53,7
H " : . B) 68
o ' D) 66

3. Complete the Given Series:
e 2 A Sl Tl N
5,710, 14,16,21,23,28,31,35, .

2’y

A) 40,41 B) 38,40

C) - 40,42 D) 38,42
[ 4. ' Complete the Given Series:

EX,HV,MT, TR, ___ _

A) BO B) DP

C)- EQ - ' D) Cp

5. Afamily of five members A, B, C, D and Etravel in a car for a Vacation. They put their
Facebook status in their respective page as below,

A's Status; "1 am traveling with my son, my daughter and two grandchildren"
B's Status: "I am travelling with my Father, sister and two children"

D's Status: "] enjoy my travel with my sister ﬁ"

How is C related to E?
A) Sister B)" Mother
C) Daughter DR Auli ;
o2 i | &y e

'/-\.. A/,)':::\ ‘
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or is written as 713@52

6. Ina certain code, If L) =9
% Y (hen what is the code for Water =7
Court is written a$ '
A) 3#912 B e
%) -
C) 31@52 L Ses
i .
| EDNGI  °

7. Inacertain code DESIGN is written as S

: as: FEREREECN, then how the word
REFERENCE is written a5 5y
In that same code hat code?

EDUCATﬁON will be written in t

b S s A) UDETACNOI B) UDECATNOI

C) DUECATOIN D) UDEATCNOI

8. A cuboid of Dimensions 6 cm x 5 cm X 4 cm has been painted on all its surfaces as
below.

| 6 cm x 5 cm sides colored with red paint.5 cm x 4 cm sides colored with blue paint.
;“ ' One of the sides of 6 cm x 4 cm painted with Green and another unpainted. Then the |
cuboxd cut into small cubes of side 1 cm. ‘ |

j.H_OW many small cubes are only with red paint (at Jeast one side)?
A) 36 B) 24 -

C) - 28 | , D) 32

Different views of a fair dje are given. Based on thc"
‘DOSI[C to 67

@
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10. A boy Started from p: . Afier that he tym,.

and Walked 17 megepg e Walked 9 meters tomards 00 Then
. ers- atyy 1ob =S | .:‘0“""
a right and walked 5 €N he tumed nghtagain welke: - g2d 2 meu,:.-s

B) 37 meters

D) 15 meters

I1. Laxman js £ _ '
- (;R(r:l ‘;s_fhcmg SOuth. He tumed gge in the clockwise drection, then 150° in (he
VISe directj g PORKRE sir 150° ;
C]OCk\ViSe direcul:(e,:lom then 23" I the clockwise directioi: znd Agt.]ﬂ 150° in the

Which directiop is he facing now?
A)  North .

C) SOI.Ith—EaS[

12.

How far is the point B from point‘.r‘-\?
| 2 4
A) 25 meters )

C) 26 meters x

13. A,B,CandDarestandamunda i

minutes. They together started to run around the circulay ground for 30 minutes in
clockwise direction. -

What is the direction faced by B?

A) North B) North-east
C)  West D) North-west
A) ®)

I.._lm AT RN T
o “ Scanned with CamScanner
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: 0 below followed by [our answer <ilmicics. l:ucho-#

il e wnts from the given set op

‘“l‘sl\ wtuwu“"“‘\.-n\""“‘“"" oft threo statements from 2 tof

Mgy clti\l‘vu‘i ha ‘iu"l (o (dentity the answer choice
v |

MMy, gy e o (wo i the same ovder,
Oleally foffows e "

A)
)
C)
D)
B)
k)
A)
C)

meanings as illustrated below

ks
Al bindy ot

\ \'““‘
No antmal sa !

\
No bind is o poptil

; Caanimals
Some reptiles 4t

wiles.
Some birds ane ¥ pli
No reptile is a bink
BOI

CDF

B) . ACB

D)

A $ B' means A is not smaller than B'

'A+ B' means A is not greater than B,

ABF

in which the third State,

" 9, > 1 low:
In the following questions, the symbol §, +, x, # and-% are used with the followin

'A X B'means A is neither smaller than nor equal to B, _ Yo

"A# B' means A is neither greater than nor equal to B',

'A% B'means A is ne

Statements ;

LXN,N#M,MS$K
Conclusions : . °
LK%N |
ILLxM

A)

B)
C)
D)

neither conclusiy, In
0

both conclusiops la

only conclusiop | 5 true o

either conclusigy, Fory ;
St

\

LS trye

Lare tpye,

©6)

ither smaller than nor greater ‘lhbn B'.

only conclusion I1 is trye
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19.

20.

21.

22.

92(A)

gl

v ' W
e T = —

e ; Y, Silrcsh Ra 4
In a group of six | ot Suresh is heavier than Uma. Rosy | man, and Umg,

e X .R ) > fagy
having a differe™ .\:iLs ot the lightest, Prakash is not th?:sggzyi%};tler than only Ry
and Prakash. U™ . lighter than Suresh? '

5 .
How many PCOPIL B) Two
' A) Three D) Four
C) One. |
- ¢in the below number series:
. on r|U1'ﬂbe .
sz}d\)ﬂ‘li\wﬁ i 13 47,63
517,10115,2. B 47
A) 33 D) 22
c) 15
the following is the water image of the following word?
Which among
AMERICA
A YMIBICY
B yINERIDY
o ADIgIMA
‘D) YINEBICY

Find the Mirror image of the foll_owihg Picture:

-~

0
o)
A) ‘B).
C) -
o |

@)

 ——————————
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i
3. A Paper has been foldeq o below and cut as shown in
' following is the unfoldeq figure of the paper?

]

B)

C) LTS D)
L X ) '

4. What ig the Minimypy, Possible strajo

Iraw this halawe IMacad
ght lineg e needed to draw this below Image?

<

A) 11 B) 9
C) 13 D) 10
25. Find the Number of triangles in the image
A 1o B) 20
C) 1 - D) ja4
92(A) )
)
—

N
.
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pers 1 39 and their product is 324. What is the differ
, Cnee 0
{

‘ y
\ [he[\\ .
26. )The sum of " .
Othc two nl-lmbers B) 15
A) 12 D) ‘16
c) 18

et scores 3 marks for €Very correct answer and loses |
Mar

27.

_ .
H auon‘ .
| In an examin “.cr_l( he attempts all 75 questions and Sccures 173 marks, (h
: for cvery wrong 5 corrcctly is: - 2y €ng

of questions he al¢
B) 54
A 62 )
C) 64 D) 56
' . (111
28. If 5*=9” 45~ tenwhatis the value of | —+—+—| o
X ¥y z :
A) -l ' 18 By il
C) 12 : D; %

4

29. Outof 81 balls in .
You mut ﬁnj : albasket one ball is of less weight when 'compared to the other bai]s
S it bala:c eii’;velght ball using a Balance. You can keep balls on the two.

' ¢ What j init -
ess weight byl Is the minimum number of measurements required tg fing

the |

A) 40 .

) 4' B) 5
D) 6

30. The ratio of lengi -

the perimeters of the

bfe&dlh of three rectangles are 3:1, 3:5 and 7:5 respectively_ If
three rectangles e . Fe fectang]es are same then what is the ratio of the area of the

Avely?
. IA ' . .
| ) 108:135; 1, : TN .
! 3 133
C) 4:8:12 B) X
D) 98:115:120
92(A) &,
-...ri.;.‘,;.-'

(10) . ,
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31

32.

A bag contains 25p coins, 50p coins ap a1

Pee coin whose values are jp
3:5:7. The total number of ¢ojng

in the bag are 580. Then find the total,ammh%f
Rupees in the bag. : .
A) 320 4,
0
C) 28 D) 3

There are 72 students in g cl

Ssroom, 1y,
right-handed. How many righ

18 of them are boys and 3/4 of them
t-handeq boys are there in the classroom?
A) Between 26 and 44

B) Between 23 and 44
C) Between 22 and 3¢

D)  Between 23 and 36




.

34,

33,

' 36.

_After offering: adise

o different schemes for four years. A receives %

HulIL' in tW
| H s » L
08 |3% interest per year for their investments. At

i
ol ;{L‘L tim .
e ‘gk nt received by them are equal. What is the ratio of

Aand B 0
l. |1|

interest P¢'° i ¢ of 137
of four Y Illlk “\Jw
mvcslmull ot | B) 18:15
Ay 1047 | D) 1743
c) 19:10 '
ions correctly,

0% of the first 90 questio

yidushi answered 4
r correctly sO that she can secure

wﬂ [
e
In a test of I"“l , lnwtlons she must answcr

What % of the f 60 in the test?

an overall pert el
B) 90%
A) 50%
D) 95%
C) 80%

If he Listed price of the product

antof20%a seller gains 28%.
duct for the seller?

s Rs.96,000 then W Lis he Cost pnce of the pro
A) Rs. 80,000 B) Rs. 84,000
C) Rs. 72,000 p) Rs. 60,000
37. A Train travel fromyplace A to an another place Bat90 km/hr, immediately it returns '
from the place Blotie place A at 133 km/hr. What is the average Speed of the train at
this entire journey?
A) 108 km/hr, . B) 112.5 km/hr
C) 110 km/hr, D) 115 km/hr.
38. Theaveragea when oné of them whose a
years is repl 8ol bhoys is dccrcased by 2 months: ¥ ge 17
eplaced by, (he age of he new boy
new boy. What is the 28 |
A) 10 years 12.5 years
C) 14 years |
92(A)
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X9, A d

40,

44.

92(A) f

A

- sl
¥ 3 \ 3

N AR Y Ao e -
" S

,e

LTI Cllicieny

WA They onether ¢
days A AMone

oy Somplete
s B) 38 daws
Q) 3 days

Lin 12 davs
Mcomplete a work w i " la o Ry,
that waork?

D) 20 das
Pipe A can tal)
liters ey Minuy
the tank»

Rtk in

S 25y
. \ . R 3E s 30 oS an Dp
4 minutes. Pipe B can full it I 30 MRS &nd pipe
S Al the three pipes filled the tank 10 mivwses. Whatds the qanp o

NN an

¥ of
A) 120 “l{‘l& B) 180 Bters

C) 2350 litery 1) 240 itens

The speed Of three cars are 30 kivh, 43 Xmvhe ang 18 Kb What is the rasiy oftime
taken by the three cars 1o travel

Qoertain dist:mm:‘
A) 3

]

s

.
.~ .~
. ~

B) 10:13:8
C) 6:15.

A train of length 900 meters runniy

Cross a telegraph post?

1R at the rate of 34
A) 48 seconds . B) 1 minue
C) s6 seconds D) 36 Sconds

- - » « N N . N .3 e T
A coin is tossed for 7 times. W hat is the probability to 1 Haag Xty o tmesd

A) 4?- B)

o

q’u

Q) rvy )

Z[=

s o ar pohveon with n
- bt i Fram o8 - IO angle of 3 regular polye
If each interior anglle is tour times of each exterior angle s

sides, the value of n is

A) 8
C) s

B) 10

D) ©

(13)

¢

 ——
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4o,

47,

] “\\.\ \\‘ lh‘ [.\?l‘llll]nh,l"

\\‘l\:\t i\\“ W A V

HoThep pineler ol the veetangle i 24 oy,
\ 1 \\\ l ‘|

O v

(o (uestions: Seleet from one of (e

ndth,
Direetions | piven choices,
A) i statement | alone suthieient to angwer (e question and 11 i not sufficiens .

statement 1 atone sufficient o answer (he (uestion and 1 ig not sufficient
BY e Bolh 1 & opether sutticient o answer (he (uestion,
C) i Neither Lnor Talone i sufficient (o answer the question,

D) At Bither Lor I alone s sufticient o answer the question,

I a class of 78 students, ench student studics at least one of the three subjects Math,
A e ¥ bl TR S \ . s ) .
Physies and Chemisty, 45 of them study Maths, 40 studies Physics and 30 Chemnisir

16 studies Mathy ang Physics, 18 study Maths and Chemistry and 15 study Physic
and Chemistry, :

How many Students who study more than one subjects? .
A) 25 B) 3l

C¢) 3

) 3 , D) 26
The monthly EXpendig
The monthly ipe

e of a man is given below in a pic chart -
ome of o man is Rs. 40,000

A
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nt

at
:
ot
.
:

s given below in df

WP

Va1 S
I

(he total expendityre
.J-,;’J
d

B) ks 56 . 76:,60

- - ‘l.
Sgiven belowinapiz 5
L"""’l“‘»"—-a = = )
- =mZolaman s Rs 40,000

ol
[J

Znother man who spent 40% of his income for food. [Thoth spent same amount

then what is the income of that new man?

> 7-!- N“' -
220 B) Rs 36,000
3

RS -..,:Cm D) RS. 30-—000

| ¥ | [P.T.0.
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thCh is called the Fourth Estate - ;
,mc form ‘of society demands of |

\
e5 e o affairs of their community
)

N acyy
s Whelhe Ivg
“ssrrt oﬂf \ LOm;mssxon on the British Pregg trtlﬁc l - ‘°na|a:‘
e ) ques of the day to b ey are gy
K Ssue Yy € able to form the b d giclcm]

dem® u\*
o !i‘e maintain betwe
0 s 410 en elections the wgllancen s
essary.

inlcu'
nssmuc.f J# . heir servants and no lhelr
q( Masters. More and p Mor
purely politica Proceg

1o
““",:1\11)5 * nformed participation not only in
reqU
o “h@“, e complex circumstances, Democratic soie

st ccount of events, of their % therey
o o) ) ed criticism; and; groundandteir ca
bu:;; H‘ fon ol 'af” ﬁameans where by individuals and gry,
necds 2% 'ewor cause, The responsibility for fulfi ling th

forum for ;‘. ar -Wa@ (
et ,5\1131 RSN 1pOn the Press thatlsonlhenewspapersa

o dsuna\°‘dﬂ ! he mainsource fron: which information, discussion, ;
5 pmodwa\s i 19? ent years 115 function has been shared with |
advocacy ¥ yonce ol broadeasting . together with the limitations on f

radio ; but(;hc geontrover sial material which can be diffused over the air, s
;luanl“)t’ha“ ﬂ&n“\ position."
eaves e

The Pressisi B source of mformaﬁop for millions of people in a mode
democracy. Aghisor ] oad puts it, "the press is for them, the only window whi
opens upon tsh ¢ sole means of escape through the prison whose walls a
private interessgne! tics and domestic concerns."Its, therefore, in the interest
the people to thc freedom of the press for it'is the best guarantee of the
freedom, Justmhoe Sutherland in the I%gulslana decision observed, "a free pre
stands as one dégrwt interpreters between the Government and the people. 1

allow it to be famy -, ¢ E ‘
v ‘°b°fﬂ 510 fetter ourselvests

0m

- SL. Which
A) Eliscu 0., 1y is hmhhom in the passage? it il th .
B) An oft "mment in whichid mzensrep ose lth t the next election
naﬁznam, e itizens abdl mattérs concerning the society and th
C) An a Uive enpagemelt
D) .Ihequalm | == 3
em‘w g tthe Citizens can questior

rco nlexts to the Citizeng
1 for the citizens
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(han radio by mdcas‘ing?
Sa. What. a

A)
B)
O s Superior intellectual content.
D) The

Lol
cie
T
ceonding to the author, makes the press more

Its durability and a fair quality of content. Jhip:
) - ider ranee of readers
lts casy accessibility to a wider range of read

Quality of the journalists.

S The freedom of Press favours
A)  the nation
B)  the Citizeng
C)  the global interest groups
D) (he think tanks

AN

.« The Statement thy, the press i

sovernment and the'people

s 315 the interpreter between the &

mplies thyg . ‘

‘ e G N and the acts of the

A) it strikes o balance between the expectations of the peoPle o
Sovermment,
. . = . ‘ - ]

B) it Informs the People about the Policies and activities of the government ang
advocates the Peoples'point of view,

C) it INterprets the political ideologjes

D) it provokes

An unrest among the public,

Passage for qQuestions 56-60 ‘

-Nergy is the master re
and do. Anything that affects ener
improve, safeguard and prolong
explains: "If yo,
Global wx

source, the foundation for everything we make, grow, transport
Y cost and availability thus affects the ability to
lives. AsMIT meteorology professor Richard Lindzen
WW“__TO’lQn”huumconUOl life — '

gy -tomake it less
r hydrocarbon and less energy
vent construction of large-scale clectricity
and nations where the vast majority of people have
benefits that electricity brings:llights and computers; modem
s, offices and- factories; refrigeration water purification and
reduced intestinal disease; villages where lives don't shut down when the sun goes
down.That is what (e global warming debate is really all about: not protecting the
Earth- by controlling energy, economies and lives, 9¢ten1lining Who gets to decide
what kinds of energy people can use, and how much. What king of car they can dr_l\'c,
and how far. What king of home they can have, and how warm or cool they can keep
1L - d. What kind f)t‘
What kind of industries and jobs will be created, hobbled or destroye impo "’".sf;t
food and clothing people can have. and at what price. Whether PCOPI? :2 age 65 TP
countries can have modern energy, homes and technologies - and 11ve
By bl

atives also delay or pre
projects, in bothrwealthy countries
seen few or none of the
homes, schools. hospita

—_—

[P.T.O-
92(A)

r -
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36.

57.

58.

59.

60.

D)

.Ad

infan

CY.Redycing US €arbon dioy;

Send Am .U(':mg :ssjons back Alds Cmissions }

Crica's emiSS 10 levels Jagy g > 027 below 2005 |

¢enin 1908 - o evel

: =0n (hc assy Sw |
m

Crigic : -

sn_s 1S looming, glashing C02 ethiai
ydrOCarbo asily be repl SS10nS can stabilj; U
ns can € Placed by "renewab] abilize global tem,,. -

j able" cnerg Peray,,

Y, and the sch.,

»Chemc '11

ptiOn

© Cr i
€ate millions of new jobs.

Whe . ' .
hy is energy defined as the ultimate regoyree for the h
' ) umans?
A)  Because it determines the major aspects of human i N
- | . ives
B) It has been d;scovcred to be a major resource by an American prof;
| rolessor in .

prolonged research.

'C)  The global conflict among the nation-states is for the control of ene
Igy.

D) Energy divides the peqple as the powerful and the powerless

Global warming is caused by
A)  Unrestrained increase in industries
B) Unrestrained consumption of energy

C) Lack of energy security. -
D) - Unchecked global p(fpulation growth

global warming, according to the author, is essentially about

The debates around
osphere

A) = ways to reduce the carbon emission in the atm
B) policies to curb the industrial wastes
C) waysto destroy cultures of the marginalized people

D) influencing and curbing the economic lives of the people

The passage suggests ,
A) that there is a major economic disparity between the developed and the pocr
countries ‘ :
B) thatpoor countries are seeking to compete with the developed countries in energy
production
vestment in non-renewable energy

that there will job loss due to in
eveloped countries

that there is colonial mindset prevalent among the d

C)

dressing global warming in the US
A) wguld be detrimental to job creation
B) ould be beneficial for job creation
o) - ll have.no effect on job creation
take its economy back to where it w

D)

as in the start of the twentieth century

will

(18)
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61.

e lived the liveg o

Passage for questions 61-65 oulE i >ntal Ny

, snerations of Y7 o, " pvernmental agtig,
Dunng these years almost a score ofguncrﬂ. o nord ¢ r[icré’; 1 zation If hist )
brutes; Steeped in every degradation of crime, x%‘ ¢l 5 civill l'l: Ory

svyenlc .

Starvation, much of which might have been preven er 111”[0 resent po.] 1€s, surely
God gran that similar condition of affairs may nbvhislo i enon OM’ It
is ever to be made of avail in the application of past n

peno™ Jrably connected wig, -
we have here 3 lesson that cannot be disregarded.Th¢ P inseP

SIS it are 07t They have beep,
effects upon society and the legislation in regard to i aplo 0 oislation. Constany
the kindred problems of Shorter hours;-and women ¢ 5 and 168 sible, the limits
treated together almost invariably in monographs, rep° s far as PO.S I b’ " are
allusion must therefore be made to these subjects, though wih of child labo - 0ol
of the subject wil] be maintained. The causes for the &7 machinery and minute
difficult to discover, and can be briefly indicated.Impro*® t of adults,though they
subdivision of labor has rendered their labor as-effective 3 omen, are helpless, and

g K . \
will invariably accept lower wages for i, Again, childrenal ation, and seldom carry
have, as yet, proven themselves incapable of effective Ofgam wween the employer and
astrike to a successful conclusion, With the present friction b¢

' .. uis choice of operatives,
employees, the former finds this no slight consideration in hlz (t:l}:e will continte to
These, in brief, have been the causes for thejr employment, and tyhe ubiet
Operate with greater and greater force un(] legislation is had upon

The condition of child labour is caused by

A)  the will of the God

B) physical, economical and psychological suffering of the children
C) the nature of any human civilization

D)  brutal instincts in human beings

62. According to the author, in the cdntext of child-labour, 3 consideration of hisiory
A) s unrelated to the current politics on the issue
B)  will be useful 1o politically address the issue in the current times
C) reveals a different era with respect to child-laboyr
D) repeats itself in a d: ild- i ‘
) rep self in a different form as far as F:hlld laboyp IS concemneq
63. The legislation on child-labour takes into account
A) the connectjop between child-labour and Women employme .t
) n
B) the difference between child-labour and WOmep employp,
ent
C) women employment as the cause of child-laboy,,
D) the role of women in sending children to Work
92(A)

(19)
[P.T.O:
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. ) o .
: in the industrial set-up are

101}

1
L
64, - .y
_4' The causes of ¢

A)  Invisible [
" B)' Abstruse P
D) Apparent ecure the rights of the Women Workerg becay
. (U . . . ' : Sc
pleto effectively Organize themge| ves for resistanc
_ ' Cagy

ioﬂ

Gt
5. Legislation is r‘q: ot
A)  They have" . :
discrimint®’ h)’slcdl Slr “gth -to. S,lt on protests against discri

| e to political mobilization of women

g
B)  They don ln
C) Thereism™ sk for themselves

D) Women cant®”’
' Cc{iﬂns 66-70 : , ,

;’;sds.agebfocrdq;‘n fom al.mostf leOO young adul.ts, behayioural scientist Maring
nd 1 examired 762408 fiction and non-fiction pregicgs verbal abilities, We
found that reading Mo.ﬂ e th; St.ronger ?md more consistent predictor of language
skills compared to8 10" lc“o"_-ATh,'S Was true whether pegple reported their
own reading habits Of if we used a more objective measure of lifetime reading
(recognizing real auhornames form tl}e am-ong false ones). Importantly, after accounting
for fiction reading, rafing non-fiction did not predict language skills much at all.
Those who reported that they read for their own enjpyment tended to have better
language skills. Relatdto our previous finding, this association was partially explained
by how much fiction hey had read. In fact, across several types of motivation, those
motivations linked ureading fiction rather than non-fiction were invariably associated
with better verbal gjes On the other hand, when a motivation was more strongly
associated with readig non-fiction it tended to be either unrelated to verbal abilities

Or associated wih Wre abilities. -

66. Developing Ianguage sk
A) reading skills

reading Practig . ,
"imaginative literature
C) Both (A)a“d(B) aginative lite

D) Neither (A)

ills depend on

’

HOF([]J

67. The researchcrs bag
0

A) SubjcC!iVe reg .lhejr SlUdy on | l
ObjeCtive s . f the selected BCITIRELS thcir.ﬁlmiliurity with the

aUIhOrS

Sess . Jrilla rougll
Meng of their reading skills th

20) 4
iy

oy

mScanner
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68.

69.

70.

*w b ctter' uvvausC p |

dgﬂ[ e ﬂsure
P

e 167
Reading fictjop, improved the language okills of the ™

A) reading fiction was based on their choic g0 11’ o
B) reading fiction made them aware of beautiful

C) fiction used an casier language

D) . fiction could be easily related to life

Reading non-fiction was associated with
A) motivation for improving Ianguagc abilities
B)  motivation to make the language skills superiof lities
C) motivation related with skills olher than language
D)  All of the above
age”
Whlch among the following is the most su1table title fof e er g
A) Reading Fiction and Non-Fiction
B) Language Sklll; and the Reading of Fiction
C) Non-Fiction as an alternative reading 8

D) What makes use read fiction?

e

Passage for questions 71-75

The software revolution has typically been looked at as a1 €O lysis. The
whose value can be calculated by means of an objective cost- benefit analy hich
answer to the question depends on the theoretical and political pe_rsipﬁc_tﬁi from whic

the issue is examined: for those committed to the free market, the software sector is an

inspiring model that the rest of the economy st should emulate Formore critically minded

scholars, software is a signifier of neohberallsm reﬂecﬁng (lie inexorable march toward
privatization and global capltallsm Iwould, however, like to suggest that this ' 'miracle"

is not an autonomous economic event that can be studied in isolation but is instead part
of a much larger and diffused cultural process that characterizes recent postcolonial
history as a whole. The rise of dxgltal technology and the new media signals the
emergence of an informatiorfal milieu that has crucially influenced the main currents of
politics and culture in the postcolonial era. A genealogy of the Indian computer industry
reveals its roots in the informational phllosophles of the colonial state and the nationalist

movement.

mic phenomenon

.- According to the author, the software boom has benefite

A) the free market

B) the country as a whole
Both (A) and (B)
Neither (A) nor (B)

21
s [P.T.O.
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Loftware economy?
e *

I'I’

w

, .
1% What i the pat”’

ism
erall’
it
A) 1t ncp’f-""‘n‘“ ism
.pth
B) Iereflecs™
) Lre cﬁ‘“'

ol
C) It contorts"
Ve

.
D) None of ¢’

., of software economy

¢
73, The phenomend! B
i postcolonial history of the wor]q

A) s related V!
N ‘uasf +ith the posteolonial history of the world
1S In con

C) Both (A)and(B)

D)  Neither (A)nor(B)

4. The political culure of the contemporary times
A)  exploits the digia] technology

B)  critiques the digital technology

C) oulsmans_digitzltechnOIOgy

D) All of the gy,

75.

Which amon
2 the fo” a,
Wing is tha Most suitable title for the passage?

A)  The SOﬁWare By,
UM "

B)  The S()ﬂwa,c o

. licg

The Sofy
Warc Dy
D) oy, Caliii
ey » Lol 1
s"flwa,c - onjal History anqg the Job Market
utj

on, Gj
Obal Market ang the Contemporary Politics

]
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ot LMES, M
jent t any
"lllk ). [A] | *
. ‘ 1ol ! hcl()ll{,ln;. (n lh\‘
Passage f el
Or questions s e sountey. T
- The Art of § [uestions 76-8( -|,u||.l hlu"';n“hb“ nury, The
SHE Of Sculpture was practiced h)’lhcpcuhlc "l ant 4,;14- claYs and rarely op
cimens of Jd: e ‘ sl )8 >
I ens of diffe h ani ‘/”,-ml' i““([ for long, no carly

i rent kinds of figures, bol
pre-historic « o, T b NS Lt .
' cand protohistoric ages, have been found 1" /o o3 o beendiscovered

‘materials yge : IRC 0ty
As used at first were oeneeallv impermaneit PO . e
amore dur"[’lc‘n o ( \I\.'uc generally nnpunl/“ \\'()(,‘IH)LIIC‘“."I _“l Jors in the field
¢ ature like . s onze. AS . o e
re like stone and bronze (e $ oo (0 the use of
S

[ ¥

i
ot

.\modcn figures have been found. But clay figurines burt
in large numbers ang they represent the carly attemp*® -“;it)

of plastic modelling and compositions. The artistic ! \ul"" Indt ‘
harder and more lasting materials like stone and bronZe: " e L-;|.l * culptors of those
and a few partially preserved stone and bronze figures e I it inc highly realistic
testify to the gradually advancing skill and efficiency © t 1‘(,1,1 Y l' d S}C;nilc scals,
days. Their knowledge of animal anatomy is also fully b“' ]Lﬁ,icﬂ"c‘ J; hal f ol the third
modelling of bulls and other animals carved on terrac® Hdlcs‘c‘m( t the adjacent
The style of the sculptural remains of Harappa belonging o e pCOPIC 0 '
millennium B.C. shows that plastic art was practiced y

regions from a much earlier period.

! racolta figurines
is Valley sites

\‘)
: . qoee
76. Which of the following is the most suitable title for this passic

) Ancient Sculpture

= >

Sculpture and Iconography

@)

)
) Sculpture of Past
) The Art of Sculpture

=)

| , ; > correct
With reference to the passage consider the statements below and choose the ¢

77.
statement ;
1)  The Art of Sculpture dates back to proto historic ages only.
2) Long-lastihg wooden and terracotta figurines have been found.
A) 1only "
B) 2 only
C) land2

D) Neither I nor 2

78. As per the passage which of the following sculpting methods were done in the st

A) lvory
B) Wood and Clay -~
C) Pillar

D) Bas Relief

0 e e

|4
)

i) | (23)
L N N [P.T0.
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e c
yarga in Vi Bengal (OW PI: es

etz itive idings made in parts ©
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Fire
iy
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Ej /z:l!'r.rmzofl i
A’ 1P
1 raditic,
D) Ans

Ultyre

i5 the most suita

(24)

ble title for this

ract withot

ylar arc
[n a particu2"
| ex erien tSof ther df;-]‘g:]hs
ocked %" 1 influenc® e
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hat do yy, ter fron, the oy Pt e?
Cran g Wiy e (Iccp-ruulul In Indig,
Cralny lendy el Culturg) Heritupe,
SPIy I

Derlence vy, the tole eayge for Crafting,
Crafiyy CXPreniey ). Y OF wpiitualigy,

"(.'nunllcs.'l recapitulation™?
Part of Movemen,
tepetition of nn ¢

Rcmnling
Ilminllnp,t

volutig .
the myjy, Pointg :
Matopic

LY progegy

- Congigey the follow;

1 (.‘mlulry folk §

Artisty are Way more advange than urbay polters
2. The System puye Countlegg Security (g 1y artisang
- Which of the aboyg Statemeyy are true?
A) | only
B) 2 only
C) and 2
D) Neither | nor 2 ;
Which of (e !blln'wing means Votiyey
A) Consecrateq in flfillmeny ol a vow
B)  Sucrifice | |
C) Compulsive i ;
D) Homeless . o
Passage for questions 86-90 g

Banking sector reforms
process of financia| inlcnncdimim
of the changing operationg| ¢

end, the Reserve Bapk of India initiated a host of me,

asures for the creation of a

competitive cnvimmncnt. Dcrcgululion of'interest rates on both deposit a:ril':;d‘;’,f

sides imparted freedon, 1o banks 1o Appropriately price their Products nn‘: $ U
ely with non-bunking entities, bank“s Were pcnp"‘ffmfc business. .

newer activities like investment banking, Securities trading, and jnsu

d through amendmengg i

.'5'.“.
N India were introduced jn order 1o improve cfliciency in he
% 1t was expected that bapjg Would take advantage
NVironment and improve their Performance, Towards this

L 3

’ r
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1

¢ of banking led to an erosion o7, ‘
ﬂo panks to search for newer actiy,

. time banks also needed to dumef

heir transaction costs. Slmuhm

s were instituted to strcnﬂh,
internal empirical rcscdrchf

iscernible improvemen, ; in« N

has ‘; officiency.has been fairly yse \
g tren such improv ement has, hom_,ﬁ.

rate 0 & that PSBs and private sector ba’h
officiency measures. Foreign b,

sof th eir € ared to their Indian countery,,

:.

mm t

gy~ T = :’f.':] is not COMIT'= n high )
B) The r-":“ “’ ment has - ar:LS did differ
c) T ndprivate sector

D) ‘\'E,II-CL‘.’Z"" “ha view to

o3 L _]ﬂted

P—LJ,.,-' 3 "u‘_ s WA
) Increase O ozl effi cnenc)
el

g) Containthe or-peri0

C) Strengthen s
D) Improve the cusomer service

89.

90. What does Augment mean?
A) Increase
B) Decrease
C) Value addition
D) e
92(4) .(26)
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91.

- what we wan; will

L R SR N Y

P ' o {0 ]]clp those

assage for . ,;16“ fm]?].y believe

Questiopg 91-9 K oul sl i

i Ply h 95 m“tif,‘ chpccung that

"t :’Jng Intentions isn't enough. Wwe h‘l"ic"[higﬂmﬂlnd us, discover
lcv . . , ! 4 i " l‘- L . : .

appen itcm' wishful "manifesting, °‘ Y ll«,]'l‘: [U)ill‘:’; (o create our

W 7 . . L :
’ ill. We can't sit around wil qolﬂb‘ : ]-"g cam to organize

fall §
nto our Ia ect? n00) s
ps. Nor can we €XP 0% st : 3
Nob  King guidance, |

something will |

how amagz;
Zing we
liv are, an
es forus, Martin L,uthd ha{’d us our place in the wor ',Pci"° , §€¢ [ wish m
erKing Jr,, said, "Those who 1" . 10 e~ poned- - Y
rganized and

0Ose )
m d be’ what it would take

constantly hear "y...:
. > "I'wish [ could haye the same job bU' " |
p 1ot i differently.

as effective]y o th

relationshj
P Were 4
focuse ~~ more serio : -
d and could dg (e har(les. We never say, "I wis!' oc? z ything o
work to get that." We dOnt (0 do LJI'cS how we fail to
NEChOP
apustf | goes, & woman

to get what w,
"There's an apf)‘::;;}t{ ;'I wish" is code for "I don't **
recognize th al story about Pjcas erfec! he t . :
sees Picas € work and perseverance b h;so i ment: As! you mind diawing
Casso in a market, She ehind achieve™ "ot por a remarkably
somefhmg. for me?" "Syre.» i goes up to him and says,ater hgnds : .
beautiful little sketch, "That € says, and thirty seconds e saYS+ g A
: it will be thirty thousand dollar> ) uch? This drawing
: irty years."The
(L. The effort behind

"But Mr. Picasso." \
g So e . Y 1
> the woman says, "how can you chaf ge m;ok me tl
"i[
. all the scriptures put

only took you thirty. ~ :
y's 1Y " -

came ofanll't}’ ,gc?nds.u "Madame, say’s Picass0 e
.. e ny artistic work-or, indeed, any job that's ¢° e W
it is invisible. The monk i , indeed, any job that

oars inia e ?POHK in my ashram who could easily recle he life it required
years Info memorizing them. I needed to consider that ivestmer® L I d :
before malqng it my go;ﬂ_ S Ton asked WHOBEE e, we resort 10 stating what We o';
T 2n I'malawyer." "I'ma housewwife/househust™"” »“I'm an athlete

I'm a teacher." Sometimes this is just a useful way 10 jump-start 2 conversation wnh
.somec.)ne yguf_ve Jjust me But life is more meanin gfial when ¢ define oursqlv.cs by our
intentions rather than our achievements. Ifyou truly define yourself by your job, then.
}V!lat happens }thn yg')u_ lose your job? If you define yourself as an athlete, then an
injury ends your careet, you don't know who you are. Losing a job shouldn't destroy

our identities, but often it does. Instead, if we live intentionally, we sustain a sense of
at we accomplish but who we are.

purpose and meaning that isn't tied to wha
Which of the following is the best ttle for the above passage?
A) Right Investment is Your Intention

B) Look [nward *

C) Liveyour Intentions

D) Redefine yourself

@' What does Apocryphal- r'nean?
A)  Doubtful authenticity
B) True
C) Authentic
D) Speculativc | (27)‘
[ [P.T.O.
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he following is intentiona] |;
Ving?

93.
94,

95.

96.

92(A)

" onlookers fl

pofl
I

\
W purpose
"o [
As pcrtht"‘1l M 0 2
. “15 “lhﬂl can be accoﬂ]p]ished
Ay Find®
. ‘p!l‘
B) Letti™ p
) \Iul‘i[
C) poth’ “,url}

D) Ncith"r'
i i5 visible" what does the autho

l]iﬂl_ll ' ‘ | r tl'y to cOnfess th 7 y
' rough gp;

is)

il ation

"The effort ]il'c:':[
A) W;Shﬁum-“ s of intentions.
ol it '
B) Invest
C) P«:rsevc‘f‘-‘“L
p) None
of rying to convey through "I wish"....2

Au(h
What does 1° -
ha o be unique-

A) | would like '
be AnalOgOus.

c) Iwould e € !
.t be ersatile.

passage for questi()ﬂs _96_100 HIC ‘ § 4
i violently and injured many people, as it was being led away by
being taken away for a sacrificial offering. But

A goat was strugé
2 dozen men ghthe street. It was
it became Cﬂ]m the ent it saw a Saint. The Saint bent down and said something in
its ear and patted it O its back. He then withdrew covering his face and muttering
The animal noW tame allbwed itself to be led away. The
d to the goat?

"How sad! My poo
ocked aroun and asked him what he had whispere
arnation of his good friend, a wealthy man

ainedthat the goat
d that he had told the goat that

(he sacrifice as @ ri
arted by it in itS Pr€ i h so why was it complaining now when
w. so shall he reap." The

it was its time 10 he in the same boat. As one soW, '
' o hter in the pame

story spread and eventually brought an
of sacrificial offering in the village- -

rfriend!".
d the saint
was a reinc

The Saint expl
who instituted
the game was sl

be inferred from the passage?

Which of the following can
at 0(_:CUI'S

A) Reincamation is a phenomenon th

B) One receives as one propagates
C) Animal slaughter is now banned by law

D)  Saints do have magical powers

(28)
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choose the word whiq, ; IS most opposite in the meani” : ,
) Spirited '

B) Disciplined
¢) Cruel
p) [nsane

o why did the Saint myger "How sad! My poor fncﬂd

A) He was against the lllLSl)/le of his fncnd B
B) The goat had been injured while it was being led ? ot AL
C) The goat wag dying from its wounds

D) He was'sad becauge his friend was going to be kil]ed

0. Which of the followmg is true in the context of the paSsag
A) The goat was not sacrificed .
B) The ritual of sacrifice gradually'stop'ped in the village
C) The Saint did not believe in reincamation :
D) The onlookers were ashamed of themselves and avoided the Saint
00, Which of the followmg titles suit the above passage'7
A) What goes around comes around
B) Action speaks louder ;han words
C) As you sow; so shall you reap
D) Don't judgea book by its cover

@9 [P.T.O.
2(4) '
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